-sl i

PNy

=

Held on : 06.12.2015 (2nd Sitting)

(" MiODEL SOLVED PAPER )

IBPS BANK CLERK CWE-V (PRELIMINARY)

. Based on Memory

" ENGLISH LANGUAGE

\ Directions (1-5) : In the fol-
! Jowing questions, some paris of
the sentences have errors and
| some are correct. Find out which
i part of a sentence has an errox.
i The number of that part is the
i gnswer. Jf a sentence is free from
i errox, your answer is (5) i.e. No

| ITON

1. The king humbly (1)/ thanked
the (2)/ noble deer for (3)/ sav-
ing his life. (4) No error (5)

2. The fierce lion and (1) the
sly fox became friend (2 and
decided to (3Y hunt togeth-
er. (4)/ No error (5)

8. The clever disciple who (1Y
kmew the special verse (2Y
wanted to showed how he
was (Y better than the oth-
ers. (4¥ No error (5)

4, When the bison had gone
down (1) to the water hole
to drink, (2¥ the jackal! goes
up to the lion (3 and start-
ed speaking to him. {(4)/ No
error (3)

5. The turtle would have (1)
loved to accompany (2) his
friends, but (8 he could not
fly. (4)/ No error (5)

Directions {6-15) : Read the
follawing passage carefully and
anawer the questions given below
It, Certain words/phrases have
been given in bold to help you lo-
tate them while answering some
o the questions. '

- There once lived an old man.
]e had three sons. One day, the

::(;n?n called his three sons and
Ei:?e, My end is near! I wish to
& ty‘;': certain things that I have

Tooster zob';:}l. He then gave a
is eldest son, an axe

& second and a cat to the

youngest. ‘These things may seem
weorthless but everything de-
pends on how sensibly you use
them’, said the old man.

In a few days, the old man
died. His sons decided to make
their fortune using the gifts, they
received from their father. So, the
cldest son went wandering about
with his rooster. He crossed many
towns and cities until he reached
an island where people didn’t
know how to divide their time.
Perhaps, this should be the right
place to use my rooster, he
thought. So he called out to the
people and said, ‘Look! Here is an
amazing creature; it has a ruby-
red crown upon its head like a
knight. It crows four times dur-
ing the night and when 1t crows
for the last time, the sun soon ris-
s, But, if it crows in bread day-
light, then be careful, there will
certainly be a change in weath-
er’ The people of the island were
amazed to see such a creaturs. Ts
this creature up for sale?” they
asked, ‘Q yes! And the price is as
many gold coing ag a donkey ean
carry; he replied. ‘Oh that’s just a
small price for such a precious and
useful creature who will help in
keeping track of time, they replied
and willingly gave him the gold
coins.

When the eldest son came
home with his wealth, the other
two were astonished. Now the sec-
ond son went wandering about
with his axe, He crossed many
farms where labourers were car-
rying their own axes, At last, he
chanced upon an island where
people knew nothing about axes,
So, he began displaying hig
and started nafrating to wer

narrating its uses,

& tool and agreed to buy it for &
horse laden with as much gold as
it could carry. ) ,
Now it was the third son’s
turn to see what he could get of
his cat. He went about wandering
through many {owns until he
reached a place where mice had
created a menace and no cat had
ever been seen. ‘We are fed up of
the mice. They are so many that
they dance upon our tahles and
benches and gnaw whatever they
catch hold of,” they complained.
The youngest son let his cat free
for sometime. She began her
chase and soon cleared some
houses. People were extremely
happy to see this, They begged
the king to buy the wonderful crea-
ture for their kingdom. The king
readily agreed and bought it for a
mule laden with goid. The young-
est son happily returned home.
Thus, the three sons made the
best out of their father’s gifts and
lived in wealth and prosperity.
6. Which of the following ean be
an appropriate title for the
story? v
(1) Bring Out the Devil in
You

(2) The Rooster and its Crow

{3) The Mantra to be Sue-
cessful-Own a Cat or a
Rooster -

(4) Make the Best of What
You Have - :

{8) The Scheming Father

T. Which of the following state-
ments is true in the context
of the story?

(1) The king was reluctant to
purchase the cat from the
youngest son.

(2) All three brothers mar-

ried the king’s daughters

People wore amazed to see such

in the end,
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- " from his rooster.

for wealth.

ments is true

8, Choose the following which is
most nearly the opposite in

the word
RIGHT" a3 used in the sto-

meaning as

ry?
> (1) dishonest (2} bad luck
] (3) unfitted (4) true
A ; 5) lelt
- BRL 8. Which of the followinyg cor-
™
N

of the phrase, ‘chamced
wupon’ as used in the story?
(1) Divided

(2) Went with the flow

(3) Waited for somsthing
(4) Failed to find

(5) Came across

10. Which of the following is most

nearly the same in meaning

as the word ‘BEGGED’ as
used in the story?

(1) pleaded with

(2) sued (3) donated

(4) granted

(5) ordered for

As mentioned in the story,

people of the island bought

the rooster because
(A) they genuinely wished to
help the eldest son in becom-
ing a merchant.
(B) it would help them manage
their time more effectively.

{C) they were aruged by its fea-

tures and wanted it as a pet,
(1) Only (B)

(2) Both (A) and (B)

(3) Only (A) (9 Only (C)
(6) Both (A) and (C)

12, Which ¢f*the following is
most nearly the opposite in
meaning as the word ‘CER-

TAINLY’ &s used in the sto-
ry? _
(1) positively (2) cautiously |

"(8) probably (4) blindly )

v

11.

1. cretly infobmed the eldeat
..} son about making mhoney
'(4) The youngest son was {00
. .- lazy to work; as a result
he wenot last on his quest

{§) None of the given state-

rectly explains the meaning

K ﬁl’m.l.t‘? s T T K] _____.?:.-?-—
P e T T S hich 1of thé following ¢her-
e ajling father ] d e | 228 Whichiof the fo he father

7 gotaribtics of 1

e ous  distinctly

T ti“-ough the atory? .

(1) He was ?ssr;ss“’e

was lone ;
8; g rarely became angry
4) Ha was wige

ES; He was an Mi}nal, Iovezﬁ

14, Which of the following is mo
nearly the same in mesning
as the word WORTHLESS’
as used in the story?

(1) barren  (2) significant

(3) useless  (4) abolished

(6) adopted

15. As mentioned in the stor:v,
the father gave gifts o his
sons because
(1) he didn’t want them to

fight in his absence,

(2) they had deranded those
gifts from him.

-(8) those were the only gifts
he could afford at that
time.

(4) he was trying to teke re-
venge on them by giving
gifte which were of no
usge,

(6) Other than these given
as options

Directions (16-20) ; Rear-

range the following five sentenc-

er sequence to form a meaningful
paragraph, then answer the giy-
€n questions.

(A) Also, crouched on either side
of the throne are two epgy.
mous beasts known ag the
Hungry Tiger and the Coy.
ardly Lion.

(B) In the splendid paluce of ghe

centre of the Land of Oz, ig 5

great throne room, where

Princess Ozma gigg on a

throne of glistering emeraldg

and listen to all the troubles
of her people,

(© 80 Ozma’s big guards arg

mare ornamental than uge.

ful and no one realises that

‘ :(B) etdentrically

|, better than th
_ ""seli;._- .

| MODEL SOIVED|
g
T (D) Ayound OZ%.B Hhiron T

I guch opeasidns, tire
" 4l the impo
o of 02

v

chief guardiang, but gy g
one loves the be&uﬁﬁ;}‘pﬁﬂ'
cess there has never hegy ,

Throne Room.

18. Which of the following
gshould be the FIRST tex.
tence after the rearrang,,

ment?
A 2B
@ C 4D
S E
17. Which of the fo]lowing
should be the FIFTH (IASR
sentence after the rearrenge.
ment?
(1A @E
@D @c
6B

18, Which of the following
should be the 'THIRI) sen.
tence after the rearrange

ment?
A 2B
3 C @D
5)E
19. Which of the following
should be the FOURTH ser-
tence after the rearrenge
ment?
A (2B
@3 C 4) B
5) D
20. Which of the following
should be the SECOND s
tence after the rearrange
‘ment? |
@ A (2B
3 C WD
) E _
Directions (21-25) : In the¥

Qu?jstion 8, sgn;_ences ‘:;:: fou!
words are given.

four worgds givéngiln the bol& el
be either wrongly spelt o 1‘;:
Propriate in the context of th?:h 3
tence. Find out the word wh i
wrongly spelt.or inapproprid® |

) nil'lthe

e beasts them-
3 i.!l. : . . M

NN

R

gr -
B dignigys

(&) These two béaatsﬁreg |

disturbance in the Breg |

any, that woid w,% be yout g |

»
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* banks, each of whieh has
numbered, These numbers ars

" gainst each, five words are Sug-

- L g

s

# priate word in each case.
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0 '/.‘;i;).—tile context of the sen-
% P ek then ‘A1l Coxrect’ is your
1 nnsweru
41, The REI governor is the
newly appointed vice
i of the Bank for In-
ternational Settlements and
will ocuppy the post for three

years.
) gevernor (2) newly
(8) appointed
{4) ocuppy  (5) All correct
g2, In his new book the author
argues that firms should
generate value for societ-
jo as well as shareholders.
(1) argues  (2) generate
(8) value (4) societie
(5) All correct
33, You do not need to be a cus-
tomer of & specific bank in
order to purchase a gift card
from that bank,
(1) need {2} customer
(8) specific (4 purchase
{5) ANl correct
o4, To deal with the grievances
of tax payers the department
will set up locale commite
tees in every region.
{1) deal (2) locale
(3) committees
(4) region  (B) All correct
95, The government has eased
foreign direct investment
norms crossed 15 sectors.
() eased (2) foreign
(@ norms 4 crossed
(5) Al correct
Directions (26-30) : In the

following passage, there 8T8
been

rinted below the passage and

gested, one of which fits the blank
appropriately. Find out the appro-

The two fish; iamed Multiwit

and Centiwit lived in @ lake with &

. frog named Uniwit. One evening,
# they were sitting by the lake,
: two fishermen (26) by, planning to
oome fishing at the lake in the nexb
Woming, After (27) the fisherman

should leave the lake (28}, Multi-
wit laughed and said, ‘Don’t be
frightened Uniwit. Qur many wita
say (29) will happen tomorrow.’
Frog, inclined to his instincts and
(30) the lake that night. The next
morning, fishermen caught Multi-
wit and Centiwit in their nets. And
g0 it is better to pay heed.
26, (1) walking (2) swimming
(8) went (4) travel
{5} past
27. (1) Listening (2) Hearing
(3) Eavesdropping
(4) Afterwards
(5) Knowing
28, (1) just {2) closely
(3) lately {4) directly
(5) immediately
29, (1) nothing (2) this

(3) which (4) nobody
(5) harm
30. (1) away (2) vaniched
(3) left {4) hid
(6) disappeared
NUMERICALABILITY

31. Ram invested a certain sum
in Scheme A, which offers
gimple interest at the rate of
12% p.a. for 3 years. He also
jnvested Rs. 6,000 in Scheme
B, which offers compound in-
tarest (compounded annual-
1y) at the rate of 10% p.a. for
g years. If the interest earned

2
from Scheme A is -,;th of the

interest from Scheme B, what
is the sum invested in
Scheme A?

(1) Rs, 10000 (2) Rs. 12500
(3} Rs, 85000 (4) Rs. 13600
(6) None of these

The sum of two positive num-
bers is 1840. If 40% of the
first number is equal to 76%
of the second number, what
is the larger number among

32.

the two?
(1) 1400 (2) 1240
(3) 1560 (1) 1420
(6) 1200

 talk, the frog advised that they

2
33, -a-rd of a number is four

1
more than 7 th of another

putaber, If the sum of the two
numbers is 17, what is their

product?

1 72 (2) 64
(3) 48 (4) 63
(8 92

84. Five years ago, the average

of Rimi’s age that time and
Ruhi's age that time was 12
vears, Three years from now,
if the respective ratio be-
sween Rimi’s age and Ruhi's
age that time will be 5:3,
what is Rimi’s present age?
(1) 17 years (2} 33 yeaxs

(3) 27 years (4) 19 years

(5) 22 years

. 85. In what respective ratio,

wheat of variety A worth
Rs. 25 per kg must be mixed
with wheat of variety B worth
Es. 18 per kg, so that the new
mixture (of both the varieties
— A and B) is worth Rs. 20 -
per kg?
(1) 2:5 (2)3:5
@ 3:4 4y 4:3
(58) None of these

36, A boat can travel 10.5 km
upstream in 42 minutes. i
the speed of the water cur-

1
rent i8 'gth of the speed of

the boat in still water, how

grich distance (in kr) the

boat can tiavel downstream
in 48 minut:gs?

(1) 148 - .(2) 1586

@ 168 (4174

{5) None of these

37, Naveen spends B5% of his

monthly salary on rent, EMI
apd miscellancous expensea
in the respective ratio of
g : 4 : 4. If he spends a total
of Rs. 20,056 on the rent and
EMI together, how much is
his monthly salary?
(1) Rs. 50,300(2) Rs. 49,600




# 45. Two trains started running

(8) Ra. 48,750(4) Rs. 57,300
6) Rs. 56,300
C 88 '(I'!iere are nine positive obser-

vations. Average of the first
six observations is 10 and of
the last four observations is
17. If the average of these
nine observations is 13, what
is the gixth observation?
) 27 (2) 18
(3) 15 @19
&) 11
Direciions (39-43) : What
will come in place of the question
mark {?) in the following number

saries?
3%.16 ? 8.12 24 &0
(1) 4 © (@10
8) 8 4) 2
(6) 12
40.2 3 7 22 89 ?
(1) 215 (2) 46"
(3) 268 (4) 312,
(5) 684
41. 200 208 192 294 ? 288.
) 160 12) 195
3) 145 (4) 154
5) 184
42. 188 92 44 20 8 2
{1) 0.2 (205
82 ) 4
(5b) 0.4
43.19 368 70 121 ? 274
(1) 202 (2) 169
(3) 139 @) 194
5) 171

44. The selling pricg of 16 chairs

is equal to the selling price
of 6 tables. If the total selling
price of § chairs and 3 tables
together is Rs. 780, what is
the total selling price of 2
chairs and 1 table together?
(1) Bs. 920. (2) Rs. 940

(3) Rs. 980 ' (4) Rs, 1,060

(6) Rs. 288

from the same point at the
game time in opposite direc-
tions (one towards North and
other towards South). The
speed of the two trains jg 16
m/s and 14 m/s respectively,
How much time wilj they take
to be 378 km apart? (in hours)
(1) 2 hours (2) 3 hours
(3) 4 kours (4) 3.6 hours
(6) 5 hours

46. What is the :e;pei:lh;;ef‘;‘;
en totai N .
;::beers in health club C 13
2009 and 2011 together an
that in health club E in the
same years together?
() 13:16 (2)11:16
8 9:16 (4) 18:18
5)11:18
If 62% of the total number of
members in health chubs C,
D and E together in 2010 are
males, what is the total num-
ber of male members in
health clubs C, D and E to-
gether in 20107

47,

(1) 283 (2) 280
(3} 287 4 271
(6} 279

48. What is the difference be-
tween total number of mem-
bers in health clubs A and B
together in 2009 and that in
health clubs D and B togeth-
er in 20137
(1) 88
8) 97
(5) 91

49, What is the average number

of members in health chabg

@) 87
(4) 98

A, Cand E in 20127
) 167 (2) 169
@) 177 @ 171
(5) 173

60, Number of

m »
health club B jpr0e® in

inereased
what percent f y
20137 rom 2010 o
) 48 (2) 52
8) 44 @) 5q
(5) 58

~—1 (C5Eas)

in5 i

members .

o _gi%{(_ 2011 | 2012 | 55N

oo | |

Year — ' " 142

Fealth Club { 798| 142 i65. -is‘.?\

2 | i | e e
—5 | 27 L = 128 181 165
5 168 747|135 112 14]

E l-————-"""';l. The LCM of two number,

48. The respective ratig o
numbers is 2 : 3. What jg y,
sum of numbers ?

B siibmdonninbinge, TR O
' ' +d anewer the S O
Stady the tabe and A08W Biven ey |

(1) 28 (2) 32
(8) 40 4) 64
(5) None of these

eral triangle is 21m morg
than perimeter of a squay,
If the respective ratio be.
tween the side of the triag.
gle and the side of the square
is @ ! B, what is the area of

the square? (in m?

(1) 25 (2) 225
(3) 625 (4) 144
(5) 81

. A and B can independently
finish a piece of work in %
and 20 days. They started

- working together and after
few days A left. After thatB
could finish the remaining
work in 11 days. After how

many days A left the work?

M 12 (2) 18
@) 15 @5
(5) 10
. 8. A and B started a busines

With an investment which B
in the ratio of 5 : 2 respe™
tively. After 6 months fro®
the start of the businessV
joined with an investme®
Wwhich was twice A's inve¥

from the start of the busits®
B withdrew all of the 3“"‘:3;
that he invested, ¥ the ¥ 1@

annual profit was Rs
,%ﬁ

- mv.‘-.m:o;::’l:‘,

Ment and after 10 mqﬂ‘hf

B T A VI LOVE

2. The perimeter of an equily,
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% "7 what was the difference be- 5516 + J798 = 9. If X is married ¢ "
h’ﬁ tween A's share in the annu- 84. uﬁlﬂﬁ ¥ 72(92) 13'“ isD relat;l to I:;.QR then how :
N gl profit and B's share in an- : Y ,
\!- sl profit? (9 14 @ 9 (1) Son
N (6) 16 (2) Daughter-in-law
A (1) Rs. 1360 (2) Rs. 1680 5. A circular copper wire of (3) Son—in-law
W (8) Ba. 1580 (4) Ra. 860 radius 14 cm is bent to form a () Cannot be determined
Wi (6) Bs. 1366 angle. If the breadth and (5) Daughter
Xa; . Directions (55-64) : What | . thelength of the rectangle are | 70 How is T related to B? .
% will ;"".';f n Pt}f“ of the question in the ratio of 3 : 8 respectively, (1) Bister  (2) Aunt
% g:; s?(‘ e following ques- what is the length of the (3) Mother  (4) Niece
N rectangle? (in cm
\ w ?1% {.1:65 x 444 =220 (1 82 - () )16 é?lii?i";‘“{n_qs; ¢ Study
by, (2) 175 (3) 24 @) 12 the following information careful-’
P @ 216 (9 220 (5) None of these | 1y and answer the questions given
I REASONING below :
2 a__1 " 2 Eight persons — 4, B, 6, D, E,
4 B8, (g% 85) +7=42 66. in a straight line of twelve F, G and H ~ are sitting around a 1-
- Q) 26 persons (facing north), J sits | circular table facing the cenkre but i
(8; 34 (2) 24 fourth from the right end of | not necessarily in the same order. b
L \ @ 36 the line. Only two persons | @ & sits second to the right of H.
T, (6} 16 e s and S, M gits gec. | C sits third to the cight of ¥ -
Ui 5 .8 2 ond to the left of 8. O sits to | @ F is not an immediate neigh- .
t?:iii;. 57. (g% gt E] of 2= 621 the immediate left of M. How bour of A.
in _ many persons sit between ¢ | o Only ane person sits between
Wam; (51 243 @ 216 (1) Three  (2) Five ® Bfié an immediate neighbour
] y - of G
o | 58 40%of3%5 4 86 - %% of 270 O mact be (g;tf‘;ﬁ:md o D sita second to the left of B.
T5 i i i i
Ty (1) 76 (2) 20 67, In a certain eode language D is not an fmmediate neigh
() 25 @ 70 I e e # E % bour of . |
. (5) 80 ond P. Al;Dw'a wﬁés 5 b g_ 1. Four of the following five are
mig| 69, (0.15x320) £ 4=3x 7 . How in RIPE o ten in alike in a certain way based
prk ¥ m 2 2 8 ths;t eodo lan o on their positions in the giv-
F‘wﬁ @1 4) 4 D) #4$5 g(zuag) " B $5 en arrangeme nt ond so form
;udx#l ) 0 ' G $4ts (93486 a group. Which is the one that
Hﬂ.m? 60. 40% of 620 + 65% of 7 = 482 (5) Other than those given as does not beldng to the group?
H’:ﬁ (220 (2260 options (W DCF  (2) GAB
o @) 360 - (4) 280 68. In & certain code language, (@) CDH | (4) BEG
g 5) 240 hois ney pencils is coded as | ) 2
l 6l £x P+ (537 ~40=2 *737’, Similarly, ‘box of pen- 72, Which amongst the following
4 @ 3 cilg’ is coded as ‘362 and ‘their Blj:atements is true regarding
wooden box’ i as i
bﬁ‘ Eg; ; @o What wi‘l’l hsec:t?:dcn?ff; : n';ent';) e the given asrange-
,h'réf swooden’ in‘the given code lan- (1) None of the given state-
grﬂ# 62, 121x5+ 845154 = 92 guage? ments is‘trueg 1 state
tlﬁeg'% g) R 4 ()% @'y (2 E is one of the immediate
% e e (®) Bither ‘6" or ¥ neighbours of B.
: . . Eg ]f'i{ther L or 'y 3 D{séts second to the right
a3, el of b,
(453.25 + 1576 + ) x 7 = 600 Directions (68-70) : Study (4) C sits to the immediate
g) 16195  (2)179.26 the following information careful- left of E.
{51 ﬁggg (4)182.25 lge;;vd answer the questions given (8) Only three persons sit be-
) ’ tween I and G.
']
1(JCSE-207) | ‘




sy > 2 e e A 2 4T g
3 L e

" @BD @

: (G)H' ! L
74 Whoamingﬂ:qfqilowupgﬂ_i?ﬂ
" second to the right of B? .

wl HE
B
bl

g

y ytwreen D.and |

Y tvg;ivmﬂiphﬂofﬁ?. '

1) Three (2 Ome
@rr @ Two

tB) None

. v H o 4 - — - ) f
Directions (76-80) : In- Tlowing questions, 8 group o
bk )t:dmb;:geoz:g;i?ationa of letier codes is giv-

pumberasymbols follow

L] repre‘

1 t which of the wmhinat:o;;s corregtly
o gﬁehgu;oogﬁ:;ubersfmbols based on the given coding system
::f: the conditions and mark that ¢ombination as your answer.

Number [5[$[%|9]4[#|8]%]21@|& 31+ 716
or Symbol | | ' i . - o
Leiter Code | P |E|H|U|W[A]C|X|B|G[K Yiviz|a
Conditions : _ 79.754%2%

(i) If the first and the last ele- (1) ZPWHBEE (2) HPWHRBE
ments aré add numbers then (9) ME (4) HPWROE
their codes are to be inter- 6) Z 9
changed. 80. 3 24@8 %

!llatel_}' followed ns well as (8) EBWGOX (4) WBEGCX
immediately preceded by a (5) XBWGCE

_ symbol then that even num-
" ber is to be coded as '@,

(iii) If the third element is sym-
bol then the first elernent is
to becoded aa the code of that

" ymbol,

{iv) If the second last element is
an odd number then the code
of that odd number is to he
interchanged with the code
of last element,

(Please Note : All the ele-
ments have to he counted.
from left ¢ right to fulfil the !
conditions.) -
76.97T@4% +4 :
(1) WEGXVU (2} UZGXDW
(3) UZGXVW (@) GZGXVYW |
(6) GZGVEW j
T T#68&3 : :

(1) YADCKZ (2) YATCRZ -

Directions (81-85) : Study
the following information carsfully
and answer the questions given
below : :

Seven persons — E, F, G, H,
M, N and O — are geated ina
straight line facing north, with
equal distances between each oth-
er but not necessarily in the same
order.

° Hl}itst}ﬁrdtotheﬁghtofo.
Nei aanbrOeiitaatanyof
the_extrm ends of the Jine,

o G_BIFB second to left of N. N ig'
g;li{ an immediate neighboyr:

:© Only three perg 3 ;
gﬁm N andpE. ons git be-

@ I ia not'an immed; ‘Neigh

" bour of B, "o neigh-

(8) ZAJCRY® {4) KAJCRY q
(&) ZAJCYK . - AP

CEITTIAS R L | B

SL. How many Persong

ave.éit- |
when § -

i
R

¢h of the following ,,

rosents peresons ceateq
the two. extreme endg of thy

'6) E, G '
84, What is thepoaitiop osl'l?wm1
respect to B?
(1) Third to the left
(2) Third to the right
{8) Second to the right
(4) Fourth to the left
(6) Fifth to the right
85. Who amongst the following
sits to the immedinte right of
M?
10
@E
®F _
Directions (88-80), : In each
of the following questions, rela-
tionship between the different el
ements ie shown in the state-
ments. The statements are fol-
lowed by two Conclusions num-
bered I and . Study the Conclu-
sions based on the given state-

@) G
@WH

ate answer :

- Give answer (1) if both the

Conclusion I and Conclusion If are

true _

Give answer (2) if either

Conclusion I or Conclusion I is

true

Give answer (8) if neither

g::'mluaion I nor Coneclusion O is
e

Give angwer (4) if only Cor-
clusion I g trye

Give answer (5) if only Co
clusion IT is tnig

86. Statement

ment (8) and mark the appropri-

3
QOB RUTQOVERT QY

EJ

“mmm s ,~ AP o EHETOATRR

2
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.g'
%"y; * g8, Statement

N

a R>ExT=1I2M
E-P . Conclusions
HEzM

Ny, | 8% Siatement
% 0<P2I=U<N

i Conclusions
'% I. 0O<U
Y . P>N
'Qt g0. Statements
N H<A<B>W:8=B
Conclusions
H’"ﬁ L S>H
laxy : I W<H
91, How many such paira of lat-
* ters are there in the word
[ CHUNKS each of which has
as many letters between
t then in the word (in both for-
lu!.:: ward and backward direc-
i tions)} as they have between
lélt‘ them in the English alpha-
Im: betical series?
0 {1) Three (2} One
s Ot (9) Two (4) None
0 1 (5) More than three
| 92 In a certian code language,
FLUTE is coded as HJWRG
bt 2 and GIANT ia coded as IG-
alle CLV. In the same code lan-
guage, how will PLOTS be
raile coded as?
e (1) RIMVU (%) NUMRQ
(3) QMPUT ({4) NNMVQ
ﬁ: (5 RIGRU

83, If all the numbers in

67452893 are arranged in

ascending order from Ieft to

right, the position(s) of how

many number(s) will remain

unchanged? .

(1) None ; (2) One

@ Two . (4) Three

&) More than three

o the gﬁ“‘fﬁo’n! (94-95) 1 Study
4 g an':;:szomaﬁo}. carefuily
Doy s the guestions given

IK% cm;;mghns Five s —~1, M, N, O and o0, I alleéh_e nu_mbe&-s are ar-
o 1. - — PeTso typing gpeeds. ranged in ascending order
: L. K<J P — have different from left to right, which of

M types faster than L, but slower
than P, O types slower than only
ohe person. L does not typ® at the
slowest speed, The one who types
the third fastest types 79 worda per
minute, The one who types the
slowest types 29 words per minute.
94, Whoe among the following

types at the gecond slowest
speed?

WL 2P

o @M

G N

95. If P types 12 more words per
minute than M, then how
many words does P type per

minute?

(1) 65 (2) 86

(3) 61 ) 41

{5} 46
Directions (96-100) : The fol-

Jowing questions are based on five
three digit numbers given below :
305 432 823 657 278
96, The positions of the first ind’
the second digits of each of the
pumbers are interchanged.
What will be the resultant if
first digit of highest number
thus formed is divided by the
third digit of the lowest num-
ber thus formed?
(1) 18 @1
@4 43
5 26
., If *2' is subtracted from the
third digit of every odd num-
ber and ‘1’ is added to the
second digit of every even
number, in how many num-
bers will a digit appear twice?
(1) Twe (2) Three *
(3) Four (4) One
(5) None
98. What will be the resultant if
third digit of the lowest num-
bgr and second digit of the
highest number are multi-
plied?

(1) 21 (2) 4
(8) 54 ) 12
(5) 18 ‘

lml

ANSWERS

the following will be sum of
all the three digits of the

number which is fourth from
the laft? _

(1 13 (218

8 9 ) 17

(6) 16

If in each number all the dig-

its gre arranged in ascending
order from left to right with-
in the number, how many
numbers thus formed will be
even numbers?

(1) Three

(2) None

(3) Four

{4) One

6) Two

1] 2@ ]| 3@ ] 4@

5] 6 | %6 8.(3)

9.(5)] 10.(1) 11 (1) | 12.(3)

18.(4) | 14.(3) | 16.(5) | 16.(2)

17.¢4) | 18. (1) |19.(4) | 20.(4)

L@ | 22.(4) |23.(5) | 24.(2)

25.(4) | 26.(3) |27.(3) | 28.(5)

29,(1) | 30.(3) §31.(1) | 32.()

83.(1) | 34.(5) 136.(1) | 36.(3)

37.(4) 1 38.(5) |39.(3) | 40.Q2)

41.(1) | 42.(3) | 43.(3) | 44.(6)

45.(4) | 46.(1) | 47.(5) | 48.(3)

49.(5) | 650.(2) |51.(3) | 52.(2)

53.(4) | 54.(1) | 56.(4) | 56.(3)

57.(5) | 68.(5) | 69.(1) | 60.(3)

61.(4) ] 62.{4) |638.(3) | 64.(3)

65.(1) | 86.(2) | 87.(1) | 88.(2)

69.(3)] 70.(4) | 70.{2) | 72.(3)

79.(5) | 74.(1) | 76.(4) | 76.(4)

T | 18.(6) 179.(1) | 80.(3)

8l (4) | 82.2 |83.(6) | 84.(1)

86, (3) | 86.(2) 187.(5) | 88.(1)

89.(3) [ 90.4) |91 (2 | 92.(»)

93.(8) | 84.Q1) | 95.(2) 88, (1)

97.(3) | 98.(5) | 90.(2) 160, (1)
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‘ig : ocoW-

10.(1) Beg (Verb) = to ask

/ .
(‘; - 12.(3) Certainly (Adverh)

'EXPLANATIONS

8. (2) Here, plural form of
friend i.e., the sly fox be-
came friends ....... should be
used.

3. (3) Infinitive = to + V,
Hence, wanted to show how he
Was ....... shonld he used here,

4. (3) The sentence shows past
time. Hence, Past Simple
i.e., the jackal went up to the
lton .. should be used,

8,.(3) Right (Adjeetive) =
suitable; correct for a partic-
ular situation.
Unfitted (Adjective) = not

suitable for something.
Look at the senfences ;
Is this the right way to the
beach?
She felt herself unfitted for
marrisge.

9,(5) Chance upon some-
thing = to find or meet: some-
thing unexpestedly or by
chance; come across.

Look at the sentence :

One day he chanced upon

Rom’s diary and began read-

ing it.

somebody for something in
an anxious way because you
need it very much; plead,
Look at the sentences :
He wants to see them beg for
mercy.
I was forced to plead for my
.child’s life,

= without doubt; definitely,
Probably (Adverb) = some-
thing: likely to happen.
Look at the sentences :

I am eertainly never going

27. (3) Eaves-drop

81.(1) Let investment in

there again.

© .. You are probably right.

: . M4 (3) Worthless (Adjective)

: .+ = having ne* practical or

financial value;. useless.

Look at the sentence :

- Critics say his paintings are
-worthless, E

2, (8) Correct spelling 8 : 507

ety

24, (2) Correct spelling nids : lacua;:i
25. (4) Apprapriaie WO

gho

be : across - to listen

secretly to what other people
are saying. .
Look at the sentence
We caught him eavedsdmp'
. ide the window.
ping ontsid acheme
AbeRs P
S.I. from scheme A

. Principal x Time X Rate
= 100

Px3x12 _o 36p

= 100 100
C.L from scheme B

=P, [(“T;%JT ) ]
= suon[(l +%]2 - ]
- coo| 32) -1

121
= 6000 [‘10—0- ]
6000x 21
= “Too = Rs. 1260
According to the question,
36p _ 2
100 =7 % 1260
-
’ = P= 360x100

~ a3  =Rs. 1000

32. (6) First number = a (let)

~ Second numbey
=1840 - 4

According to the question,
Ha 75

100 = Top (1840 -g)

= 8a =15 (1840 - q)
= 82 =18« 1840 — 154

_ et o= T8
21. (4) Correct spelling

83. (1) First number = 4 ()

;. Second number = 17 -9 . g
.~ Required product

34- (5) 5 Yem ago’

35. (1) By alligation,
Variety-1

20-18-9

%

= 23a =15 x 1849 S0

_ 15x1840
= 6= o3

= lém}

= Larger number

. Second number = 15" .

Awording to the Queatioy
20 _ 17-a
3 4
- %ﬁ =(17~a)+ 18
= 8a=51-3a +48
= S¢c+3a=99
= lla =98

99

=~ a=q7 =9

+4

=9X8=72

Age of Rimi and Ruhi
=2 x 12=24years

At present,

Age of Rimi and Ruhi

= 24 + 10 = 84 years

3 years hence from today,
Sx +3x =34 + 6

= 8x =40

40
= %= =5
~ Rimi’s present age
=8r-83=5x5-83=22years

Variety-l

| MODELSOWVED "’mﬁia A

25 /18
\ 20

25-20=5
. Required ratio =2:5

36. (3) Rate upstream of boat

R

o
Accorddd
[£.3

—-=2

20

= x=
=Rs. 5

3.(5) Six

=10 x
=60 +
=131 .

8.6 Th

1sx-f
Bxq,
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~“"1f tha rate of current be ¥

imph, then

th“ gpeed of boat in still water
& = Gz kmph
by + Rate upstream = 6x - x
},%ﬁn = bx kmph. *
& *Et'l y s bx=18

15
= x= 5 = 8 kmph.

+ Rate downstream of boat
= Tx kmph -

Ui =7 x 8 = 21 kmph
by » Distance covered in 48
48
minutes = [21" §) km.
= 16.8 km.
37.(4) Naveen’s monthly salary
. = Bs. x (let).
i Lh!J Expense on rent, EMI and
' miscellaneous items
bbx 11x
" = 100 ~ R 30
- Expense on rent and EMI
7 1llx Tx
Re = Es, (I'i"zo]=Rs'z—o
1] According to the guestion,
o fok
7.
-2% = 20055
20055 x 20
=2 r= g

= Re. 57300
bagt 88. () Sixth observation
=10x6+17x4-9x13 .

=60 +68-117 ™ "))

SF =11+
;”;r 39.(3) The pattern is :
1
16 x 2 =
8x1=8
o
5-5”% 8x%=12 '
]SEFE . 12‘2524'” ." N
ot % x 2.5 = 60

.1 40.(2) The pettern is :
il 2%1+1=2+1=3
8x2+1=6+1=7
Tx8+1=214+1=22
Rx4+1=88+1=89

B9x5+1=445+1=

opmsomorir s

41.(1) The pattern is :
200 + 8 = 208
9p8 - 2 x § = 208-16=192
192 + 2 x 16 =192 + 82 =224
294 -2 x 32= 924 ~ 64

160+2x64=160+128=288
42, (3) The pattern is :
}'2—8—2=94-2=92

92 -—2:46-2=44

2 |

-2——2=22—2=20

20 _5_10-2=8
2

%-2:4-2:@

43, (3) The pattern is :
19+1x171=36
98 +2x17=86+34="T0
70+3x%x17=70+51=121

121 +4x1‘7=121+68=

180+ 5 x 17 =189+ 85 =274
44. (5) S.P. of 1 chair = Rs. x (let)
S.P. of 1 table = Res. y (let)
s 16x = By (i)
and 5x + 3y = 780.
= 10x +6y=2x780
= 10x 4 16z = 2 x T80
= 26x =2 = 780

2 x 7RO 6
26 0

From equation (i),
6y =16 x 60

16 60

=x=

= y= = Rs. 160

& 2¢+y=Rs. (2 x 60+ 160)
= Rs, 288 . .
45. (4) Trains are moving in op-
posite directions.
. Relative speed = 16 + 14
= 30 m/sec.

= 108 kmph

& Required time

_ Distance 378
" Relative speed ~ 108
= 3.6 hours .

46. (1) Required ratio

= (168 + 128) : (172 + 181)

= 286 : 352

=18:16

47.(5) Number of members in
health clubs G, D and E in
2010 = 163 + 147 + 140 = 450
Number of males

450% 62
=700 279

48. (3) Required difference
= {188 + 207) - (141 + 167)
= 405 — 308 = 97

49. (5) Required average

_ 142+181+186 _ 519

— —

a 3

=173
50. (2) Percentage increase
190-1256
=125
6500
= o5 =52%
51.(3) Let the numbers be 2x

and 3x.
Their LCM = Bx

= 100

48
s Bx= 48=>x=? =8

- Sum of numbers
52. (2} Side of triangle
= Ox metre
Side of square = Bx metre
According to the guestion,
3x9:-4xbx=21
ey 27x — 200 = 21
= Tx=21=3x=3
. Side of square = 5 \
=5 x 8 = 15 metre R
> Area of square = 156 x 15
= 225 sy. metre
53. (4) Let A worked for x days.
- A's x days’ work + B's
(x + 11) days’ work = 1

X x+11
= 95+ 720 =1 |
IR S S §
25 © 20 T 1T 20
3
=20
4x+5x 9
100 = g9
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= 12=3x2 _ :
== =9 x b 12 L oM § d oo
= 9¢ 20):100 X ___,2?=-§-=4 gTTTTTTTTTTIj
. 9% 5 5 daya = RNadl=?7=2 T '
= —"—""=
40;:620 65x? _ 482 ara five perg
54.(1) A's mvestmnt-nasx 60.(9) 100 ‘lt;?:e": 5 Persons hy.
B's investment = Rs, 2x EE A D
C’s investment = Rs. 10¢ 248 + 85X7 _ 499 u’!.(l)\l' 1 vl
Ratio of the equivalent capi- = 100 5 % 6.
tals of A, B and C for 1 month 657 245 = 284 p fl ’ B
- 12 % 10: 6 % 102 -
et e Sl = To0 - 42~ 114
Sum of the terms of the ra- 234x100 _ gag $§ % 4 6
tio=3+14+3=7 === = Therefore,
+, Difference between the o7 RI P E
» 2 6L.(4) 2 x 9%+ J328 —40 = 111l
sharesof Aand B= = x 6510 4 P . # 4 $ 5
-40= 27? 68. (2)
= Rs. 1860 = =8 (
B5.(4) 50 x == x 44 +7 = 620 = 7?2 ;50 ?:;32 =2 new pencils>7 3 [i]
55 = 2=P=
S o0 40 = 220 62.4) 7" = JITx5+ 845 -154 @ of pencils >3 @ 2
1 28 J_—154 | ] wooden @G>0 [1} ©
B85 x5 +7=4 = V1296 ' wooden = 9
= 30+7a64 . ?-:J“ =6 (69-70) :
= ?=64-30=34 ‘ P is the mother of B and G,
3 G is the daughter of P,
8 2 =
.8 ("*E"s) 9= 601 68.(8) (453.25 + 1676 + 7) x - D in the busband of G.
= 600 T is the daughter of D and G.
25+72+18 69. (3) K is the hushand of P
—_— = 6 4
= [ 45 ]*?‘821 = 610'?51-?-—0-'%- D is the hushand of G.
= 800 G is the daughter of K and P.

= 115 x ? =621

45
_ 621x45
T 118 .
40% 295 %270
58.(5) '1-86 = —"'—100
= 130+ 86 = "”;270
. P®270
= 216 ='.":100
216x100
9 et p———
= %= 270 = 80
015x 320
§9.(1) (‘—‘T—] =3x2?

48
=7 =3x2

= ?=800-610.75 = 189.25
64.(8) o916 + J720 = 318¢

= 54 4+ 2T = 318-7
= 81 =3l
= 3= gis-?
=18-%=4
= 7=218-4=14
8. (1) Iﬂngth of wire = 2mr

Breadth of rectangle
= 3x cm,

Length = 8¢ ¢m,
" 2(8x+ 3y) = 88

Therefore, D is the son-in-
law of K,

70.(4) T is the daughter of D
and G,
B is the brother of G.
G is the sister of B.

Therefore, T is niece of B.
{71-75) «

LT




T of By
terof |
od of G
e of Dl
shand o}
nd of G
tor of Ko

b

m—;l! the groups, the first
(& ison is sitting just opposite
to the second person.
Except in the GAB, in all oth-
ergroups the third person gits
: wtheimmediateﬁghtifthe
first person. In GAB, B is to
the immediate left of G
72, (3) E sits just opposite to B.
~ C sits second to the left of E.
Either two or four persons eit
hetween E and G.
73, (6) H and G are immediate
nle)igé'lbours of C.
4.1 sits second to the right
vy righ
95. (4) When counted from the
left of D, two persons—A and E-

are seated between D and H.
640 7T @ * + 4
R
G Z GX VW
Condition (iii) is appliceble.
77.(207 # 6 8 & 3
14 4L Ll
YAJd CKZ
Condition (i) is applicable.
8,054 # 5 % 9 2
NI A A A A
WA P HBU
Condition (iv) is applicable.
907 5 4 % 2 $
N AR
Z P WH 3B E
80.(3)% 2 4 @ 8 *
' 11l e
EB WG 0 X
Condition (i) is applicable.
81-85):
R
I
e

g ¢ N F H M E
R
- . T
81, {4) Only N is seated between
Oand F. -
82, (2) F sits exactly in the mid-
dle of the iine.
83.(5) Gand E are geated at the
twa extreme ends of the line.
84.(1) F sits third to the left of

El
85.(3) E sits to the immediate
right of M.
88. (2) L < Ve 0= D
L<V<0O=D

Coneclusions
I.D=L:NotTrue
H.L<D:Not'1‘rue ’

L is either smalier than or

equal to D, Therefore, ither

Conclusion I or Conclusion IT

is triae.
37.(5)J=C'>Y=K<X

Conclusions
LX » C: Not True
ILK <dJ:True
&&(l)R>EzT=I;M

Conclusions
LR>1:True
ILE > M: True
.89-(3)0<P2-.1=U<N

Conclusions
I.0<U:NotTrue
II.P > N : Not True
90.(4) H<A<B>W

sS=B

H<A<B=8

Cenclusions .
I.S>H:True
1. W < H : Not True
21.(2) _

—e.
>

L=V=0=D

4_______1-————-——4__-———-_1 ICS_E-;EIS | H__j/"

93. @
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4‘5‘6\7‘3\3\

2|3,

P>M>L
D‘aO‘;D,D,D
p>M>L5>] |

P>0>M>L>N
4 !
3 29
words words

o4, (DL types at the second

siowest speed.

95. (9)M types 73 words per

minute.
Therefore, P types 73 + 12
= 85 words per minute

98, (4)395 = 935

432 =» 342

8§23 = 283

657 = 567

278 = T28
Highest number = 936
Its first digit =9
Lowest number = 283
Its third digit =3

Required resultant = % =3

97. (3)395 = 398
432 = 442
823 = 821
667 = 655,
278 = 288
98, (5)Lowest number = 278
Its third digit = 8
Highest number = 823
Tts second digit = 2
Required resultant = B8x2
=16 - 0
29, (2)
978 < 896 < 432 < 667 < 823
Fourth number from left
. = 657
Required sum = 6 + & +7
=18
160. (D 985 = 369
432 = 284
823 = 238
657 = 587
278 = 278

00

-.11



